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Reasoning Mega Quiz for SSC CGL

Q1. A's weight is more than the weight of C, and A has the second highest weight. E weighs more
than A. B weighs more than D. Who is the heaviest?

AT T CF Tl ¥ HAF §, 3R AFT g 3TIdH qoial g1 EFT goiet AR 3+ & BFHT

gad D& 3O+ g1 ged Hil FiT &7
(2)B
(b)D
(c)E
(d)A

Q2. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

TF @l &) 1€ § fOEH v o rad € 3y U av el & @ 39 RAEFeT &1 999 F&m

T S U @ F QU FWM?
HK, 7, PQ, TT, XW

(a) LN

(b) NO

(c) LK

(d) NM

Q3. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

T 4@ar &1 15 § O v o 3raag & 3ge RU v Jeeul & @ 39 [Qeey &1 93 &6

T ST 3§ @ HT G FWM?
JN, OR, UW, BC, ?

(a) KM

?C))) ]]I]( TEST SERIES

(d) K] Bilingual

Q4. Nikhil is 8 yr younger than his brother Rohan. How old will

Rohan be when he is twice as old as Nikhil? SSCCGL TIERI12018
I 3G UgT A 8 T BT . 5 Qe a Previous Year Questions

alroT g STwan at 98 fhaa a¥ & ghm?

(a) 4 yr 21FullLength Mocks

(b) 6yr

(c) 8yr Validity : 12 Months

(d) 16 yr
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Q5. From the given alternative words, select the word which cannot be formed using the letters of
the given word:

R 71T et & & 953 ST TS T 94T F< O T T U5 & A=A T SUANT F<h TGl Mo (ohAT ST gl
gl

ORGANISATION

(a) GRANT

(b) NATION

(c) GIANTS

(d) ORANGE

Q6. If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ?

gfe EARTHQUAKE %t EKAUQHTRAE % &9 # for@T SitaT € a7 ELECTORATE g Y= forat sirosm?
(a) ETAROELECT

(b) EARTOTCELE

(c) ETAROTCELE

(d) ETAROCTELE

Q7.1f a denotes x, b denotes +, c denotes + and d denotes - ,then8a3c24b12d19=7?

IfT a ‘X’ T AT E, b+’ A IATAT §, ¢+ FT IATATZ ML d -~ A qTqT ], W 8a3c24b12d19=7?
(a) 17

(b)7

(c) 14

(d)8

L1Difficulty 3

QTags MATHEMATICAL OPERATION

Q8. Given equations are solved on the basis of a certain system. Find the correct answer for the
unsolved equation on that basis:

TG TR TH AT T § g T Srar 81 SH aree o2 f|{w 1w 9 fsreat & & v & o @@t sw)
< forfem

2+4+6=48and
3+2+8=48,
then2+5+7=?
(a) 48

(b) 70

(c) 14

(d)59
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Q9. Select the missing number from the given alternatives

Ru 17 fAwet # | ST ST FT AT F
28 | 20 7

84 35 12

45 ? 9

(a) 19

(b) 22

(c) 26

(d) 25

Q10. If North is called North west, West is called South west, South is called South east and so on. A
person walks straight from South west to North east and then turns left. Walks straight and again
turns left. Now at what direction he is facing?

I ST T ST GFw FgT SAaT §, TR v feror afEew gy strar €, feror v <f@ror gF F7r Srar § &7 o
<t BT Y Twrar |1 T At feror afe & e S @ it A gwar @ i< T a1e g2 Strar 81 e 9@
& Sl T & 974 |2 SI7aT §1 19 I9+ e e Y iR 4@ FC @I 8?2

(a) South/=faror

(b) North east/wﬁ

(c) North/3I<T

(d) South west/aferor gz

Q11. A's weight is more than the weight of C, and A has the second highest weight. E weighs more
than A. B weighs more than D. Who is the heaviest?

A FT IS C 3 9917 | ST §, < A FT U SgAH a9 gl E FT a9 A ¥ A& g1 B FT a9 D § (e gl
o8 AT 1 82

(@) B

(b) D

() E

(d)A

— _ o TEST SERIES
Q12. A series is given with one term missing. Choose the correct

. . . . Bilingual
alternative from the given ones that will complete the series. J &7 /

T sE@aT & T2 & Srad v = sma € s R e et § s«

e T 9 FAT § ST 56 F@AT G HSM? FCI 2019
HK,?,PQTT, XW Manager Phase-|
(a) LN

(b) NO S0 TOTAL TESTS
(c) LK

(d) NM Validity : 12 Months

3 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/3112/FCI-Manager-Phase-I-2019-Online-Test-Series

Q13. A series is given with one term missing. Choose the correct alternative from the given ones
that will complete the series.

T SEaT &F T2 g e T o 9979 & sl Ry 10 Ao § & ST @wew 1 997 F7 8 S 59 S@dT A
T FHAMM?

JN, OR, UW, BC, ?

(a) KM

(b)J]

(c) JK

(d) KJ

Q14. Nikhil is 8 yr younger than his brother Rohan. How old will Rohan be when he is twice as old
as Nikhil?

AT st 9TE T ¥ 8 9 et §. 5 g RRe F IR 31 Smeem v =g s a1 gem?

(a) 4yr

(b) 6yr

(c)8yr

(d) 16 yr

Q15. From the given alternative words, select the word which cannot be formed using the letters
of the given word:

fRu g et & & qTe7 I 915 T FFA B O U T 9187 F ST T ITART Fk AGH NS THIT AT AT
gl

ORGANISATION

(a) GRANT

(b) NATION

(c) GIANTS

(d) ORANGE

Q16. If EARTHQUAKE is coded as EKAUQHTRAE then ELECTORATE will be coded as ?

gfe EARTHQUAKE T EKAUQHTRAE % &9 ¥ for@T SiTaT 8 af ELECTORATE f& wanie ferat straam?
(a) ETAROELECT

(b) EARTOTCELE

(c) ETAROTCELE

(d) ETAROCTELE

Q17.If a denotes x, b denotes +, c denotes + and d denotes - ,then8a3c24b12d19=7?
IfT a ‘X’ FT IWTATE, b+’ A IATAT R, ¢+ Fr IATATZ M d " A IqTaT ], AW 8a3c24b12d19=7
(a) 17

(b)7

(c) 14

(d) 8
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Q18. Given equations are solved on the basis of a certain system. Find the correct answer for the
unsolved equation on that basis:

TG THIFHT TF [T yorrelt & g g sma 81 St s w) Rw e 9= et # & v % g @8t sW)
< forfew

2+4+6=48and

3+2+8=48,

then2+5+7=?

(a) 48

(b) 70

(c)14

(d) 59

Q19. Select the missing number from the given alternatives

R 1T Reat ¥ T S99 T FT AT wR.
28 | 20 | 7

84 35 12

45 ? 9

(a) 19

(b) 22

(c) 26

(d) 25

Q20. If North is called North west, West is called South west, South is called South east and so on. A
person walks straight from South west to North east and then turns left. Walks straight and again
turns left. Now at what direction he is facing?

Ife ST FT I TIEH Fgl ST &, TRA Y Feror 9fEe FZ1 Srar §, Sferor v 3fEvor qF 31 Srar @ &6
<ft TaT g1 Far g1 U Afn fRror afEe § €8 U IF $I A F9dT g i F6T a1 g2 S1av g1 e g
& Sl [T & <10 {2 ST ) 19 39+ fhe feem it Ak g@ s @ ?

(a) South/=faror

(b) North east/3<Z Tf
(c) North/3<¥ 6 Months Subscription

(d) South west/aferor afery
Q21. In the following question, select the odd word from the '

given alternatives. PREMIUMPLUS
e v ¥, i 73 Reeat § ¥ Rfuw as2 w1 999 fie.

(a) Walls / Sar¥ SSC CGL
(b) Doors / T¥@TS

(c) Floor/ st

(d) Foundation / €T
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Q22. In the following question, select the odd letters from the given alternatives.

et v ¥, i 73 Reeat 3 o Row 3ot 1 99+ fite,
(a) DU
(b) KP
(@IQ
(d) GT

Q23. A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

= R @ w0 ®, T st < T2 g Ned uE ug 9| § v R w [wet § 9 S9 Aswew w39
FEAT § ST S0 S@AT &l T FEM?

BD, CE, DF, EG, ?

(a) FG

(b) DH

(c) FH

(d) EH

Q24. A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

T F@aT & TS ¢ s T 1< 9979 § et Ry ¢ et § & ST @se w1 =99+ F347 § S 59 SE@Er w
T FEM?

WVU, TSR, QPO, ?

(a) NML

(b) LMN

(c) LMK

(d) KLM

Q25. In the following question, select the word which cannot be formed using the letters of the
given word.

FaferieT v § 59 s &1 399 Fifory oe U T a5 % 1 1 TIRT Fh gl S7TAT ST ghal.
Liberation

(a) Ratio

(b) Aion

(c) Bear

(d) Liberal

Q26.If "-" denotes "divided by", "+" denotes "subtracted from", "x" denotes "added to" and "+"
denotes "multiplied by", then

4+16x5+4-2=?

i "—" T 37 " AT ", "+ FT e G HeT ", x " T el ST SR " T A A T, W4+ 16 x 5+ 4 - 2
=?

(a) 2

(b) 43

(c) 22

(d) 67
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Q27. Which answer figure will complete the pattern in the question figure?

I HT I AT T SAHIT | Yo HT G HGA?

7 ?
NS

S

(b) '/j

(c) y

(d) \
m

Q28. From the given answer figures, select the one in which the question figure is
hidden/embedded.

< Y SR AR &, St 94 FT e v i Reftestoa 82

)

@ || %
(b)

© [\
@ || 05
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Q29. A piece of paper is folded and punched as shown below in
the question figures. From the given answer figures, indicate
how it will appear when opened?

T FRW & ghe H A1 w99 B 1w st & f= geortar @ 8.
= fRu @ =t & 9w fifow & g s 9 3g o s & e,

uﬂ
(a) o
o
1] o
o 0
o | ° e
@ || o o,
uﬂ
@ || oo,

TEST SERIES
Bilingual

SSC CPO 2019

TIER-I

15 Full-Length Mocks

Validity : 12 Months

Q30. In the following question, select the related word from the given alternatives.

fRaferfeT v 7, e & Rt 7 & grafera ae2 &1 =3+ fiferm.
Car:Road::Rail:?

TS 98F 3T 2 ?

(a) Water/ 9T+t

(b) Air/ ZaT

(c) Road/ &=+

(d) Track/ &=
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